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Addition - missing addend (sums up to 20)

Grade 1 Addition Worksheet

What number should be added to the first number to make the answer?

D1+ =1 23+ =11
3+ =5 “ 44+ =6
57+ =16 8 + =16
N4+ =17 85+ =8
93+ =3 101 + =2
g+ =11 22+ =28
135 + =10 48+ =20
94+ =13 92+ =6
5+ =11 82+ =3
1998 + =12 2002 + = 5§
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Addition - missing addend (sums up to 20)

Grade 1 Addition Worksheet

What number should be added to the first number to make the answer?

D1+0=1 223 +8 =11
33+2=5 N4+2=6
5 7 +9 =16 68 + 8 =16
N4+ 13 = 17 95+3=28
93+ 0 =3 1001 +1 =2
g +3=11 1222 +6 =8
135 + 5 =10 48 + 12 =20
154 +9 =13 162 +4 =6
M5 +6 =11 182 +1=3
1998 + 4 = 12 202 +3 =5
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